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Put your weekly quiz on your desk, and answer the
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following. *P()L\‘-&U-‘h\ Y‘L
1) Put f(x) = 3x2-12x+15 in vertex form.

2) Put 6x%4%1 2x+y+1320%in modified vertex form.

152 Xy 13X
O 13301
_L‘(’;Q_ﬁ‘}q?)( “Yx4l
s
Iy = (x-a )l

@ x4 \Gxt%-'(_)\{_l
}%’M\_’@l =Y
© G
Ryaxtl =Y.
Y
()(‘r\\q: AV
b
[ETAR Y e

[CSIN Y

sl

“

gl

(¥4

13

October 30, 2017

Try this: 4,734 + 21 W
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Dividing Polynomials Using Long Division

the first term of the divisor by to get the first term of the dividend.
2) Put that number above the second term of the dividend.
3) Multiply down.
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e next term in the dividend.

5) Bring down t
6) Repeat the process until you finish off the number in the dividend.

*7) If you have a reminder, w MM t
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1) Looking at the first term of the dividend and the divisor, come up with what you have to multiply
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Complete each of the following on a separate sheet of paper. (ot in your notebook)
3) (m*—7m—11)+(m—8)
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4) (a®—28)+(a—5)
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5) (x®—4x?+2x+5)+(x—2)
A o
X*-aAx-a TX—Q\
6) (2x®+4x?—5)+ (x+3)
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8) (x?+4H)+(x+1)
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10) (x® — 2x% - 75) = (x — 5)
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12) (2x* + 5x3 + 5x2 + 10x + 8) + (x + 2)

13) (x® — 2x% + 6x — 6) = (x — 3)

x A
X TX+°\+-%—_3

’&ﬁ— 5% +15 % -0 _3“2\
Ata




	Page 1
	Page 2

